C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. ANSWers
Y (P +6)-(ViP+6) .
2.
V (7-9)-(Zq+8) ;
.
D (TE-2)- (Vo -16) ;
6.
Y Tcr2)+ (Tuc+ ) .
8.
% -(2/9W-5)+(8/9W+17) 0
10.
6)

'(3/5D'3)-(10/25D+16)

D Yy -20) - (Ygv -17)

Y (Y r6)- (T 12)

9)

(TA-17) + (FA +12)

0 '(4/5'\/I '7)-(15/25'\/I -2)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K ( 10/20P +6)-( 3/4P +6) L -5/20P+O
P+ 6- P 6 7,017
P (7Q-9)-(Zq+8) . JyE+14
7,Q-9-7,Q-8 L/ CH5
Y (VE-2)- (Ve 16) . Zwe
-2 ouE + 16 . -/,D-13
Y Ycr2)+ (L +7) Gyt
-5/40C -2+ 25/40C +7 8 -12/16T +6
¥ (Fw-5)+ (T +17) . /A5
-2/9W +5+ 8/9W +17 0 -35/25M +9
) -( 3/5D -3) -(10/25D +16)
D +3- VD - 16
D Yy -20) - (Ygv -17)
Y +20- Y5y +17
Y (Vrr6)-(MYT-12)
YT -6- 76T +12
¥ (YA -17) + (T +12)
—1/6A +17 + 3/6A +12
O VM -7y - (FeM - 2)
PV M + 7= T oeM + 2

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
g (15/40N+6)-(1/8N+18) 1
2
2 (%z-16)-(Yz+18) )
4.
Y (Vk-11)- (Ve -3) .
6.
Y (Yc+ 1)+ (YasC+5) .
8.
) -(6/9H-3)+(1/9H+5) 0
10.
6)

(VW -9) - (7 eW +10)

D (N -20)- (Fev -11)

¥ (Y re18)-(YF-13)

Y (Yx-16)- (YeX -5)

0 (YG-15)- (VG +6)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y YN +6) - (/N +18) 1 10/40'\"12
40N +6- 740N - 18 . /z-34
2 (%z-16)-(Yz+18) S
ez - 16- 7oz - 18 L - /C2
D (VK -11) - (Ve - 3) s /o2
VoK - 11- ek + 3 VA
K ( 7/9C +7)+( 8/36C +5) k _24/24V+31
YV 6C-T+ /3gC+5 g ‘6/12':'5
D (YH-3) + (YeH +5) RS
-6/9H +3+ l/9H +5 10 -7/5G+9
¥ (Yaw-9)-(Yew +10)
-9/15W +9- 6/15W -10
D (N -20)- (v -11)
N +20- VoV + 11
¥ (Y re18)-(YF-13)
V- 18-/ F + 13
Y (Yx-16)- (YeX -5)
YoX -16- /X +5
0 (YG-15)- (VG +6)
VG +15- /G- 6

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
V(T 13) - (YT + 10) .
2
D (Y%K - 20) - (K +17) :
4.
¥ (Yc-15)-(VpC-16) 5
6.
K -(4/5A+2)+(3/15A+4) 7.
8.
Y (YH-19) + (YyH +11) 0
10.
6)

-(2/7F'3)'(]/7F+12)

" Sz-2)-(Ziz-9)

¥ (YEr11)-(YE-3)

? (6/15R+17)+(]/5R+15)

O Y-8y - (Y -15)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K (7T +13) - (VpgT +10) 1 5/on+3
T + 13- V0T - 10 L /K37
7 YooK -20) - (/e +17) 3 /041
oK - 20 - YooK - 17 L S A2
K (74C-15) - (/1,C- 16) o /xHSB
,C-15-7,C+16 . JF9
Y Tar2y+ (VA +a) . /2
'12/15A -2+ 3/15A +4 8. '2/14E'8
D (YogH-19) + (ZygH +11) o SR
-10/20|—| +19+ 4/20H +11 0 1/3V+7
¥ (ZE-3)-(YEr12)
Y F+3-7F-12
" (Fz-2)-Fiz-9)
—6/82+2—4782+9
¥ (YEr11)-(YE-3)
VuE-11- T E+3
K (6/15R+ 17) +( 1/5R+ 15)
YR +17+ /1R + 15
O Y-8y - (Y -15)
JN -8- 7oV +15

1-10 |90[80[70|60[50[40][30[20|10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Y (%R +13)- (VR +15) L
2.
P (S -14)- (Vv +e) .
.
? (%0-5)- (Y- 13) :
6.
Y (Faw+2)+ (Yew +12) .
8.
¥ (U -3)+ (Topy +20) 0
10.
6)

(75E-17) - (V4E + 10)

D Ve-2)-(YeB-4)

) ( '5/10D +13)-( 36/40D -10)

) '(8/106'5)-(3/1OG+12)

O (Yc-12)-(Fc-4)
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ﬂh Rewriting Expressions

Name:. Answer Key

Rewrite each expression in itssimplest form.
1 10 3
) (" /5oR+13)- (/4R +15)

10 15
/20R+13-"/50R- 15

2 (Yv-1ay- (Vv +8)
YN -14-7N -8

Y (%0-5)- (7Q- 13)
5/9Q—5—3/9Q+13

K -(3/5W+2)+(475W+12)
-3/5W-2+475W+12

¥ (U -3)+ (Topy +20)
2V +3+ Y + 20

¥ (YE-17)- (e +10)
B+ 17- VE - 10

" Ve-2)- (- 4)
—5/15B+2—1O/l5B+4

K -( '5/10D+13)-(36/40D'10)
YD - 13- °/,D + 10

) -(8/106'5)-(3/1OG+12)
10G+5-/1sG- 12

10)

(7:C-12)- (TpC-4)

9 12
/»C-12-"7/5,C+4

Answers
5
1. '/ZOR'2
1
N AVEY.
2
3 oQ+8
1
4. sW+10
6
s, /oY1
15
6 - /1sE+T
15
7 - /,5B+6
16
8 - 40D'3
11
9. - /1OG'7
3
10 - 21(:'8
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Dy - (YT 3) )
2
D (YR-12)- (YR + 4) 3
4.
Y (Muc-1)- (V) .
6.
Y (Y 10)+ (Ypw+17) .
8.
¥ (7G-15)+ (/G +8) o
10.
6)

(VouM -12) - (7 M +9)

) -( 1/10H'3)-(8/10""16)

¥ (X +11)- (X -3)

? _(_2/32-'-20)-(2/62-10)

O (ZE+e)-(7E-10)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K (4/6T+11)-(3/6T+3) . l/6T+8
VT +11- 7T -3 . - 7,R-16
2 YR-12) - (TR + 4) . /uC4
YuR-12-",R-4 L JWHT
Y (Chac-1)-(he-7) . /BT
7uC-11-7,C+7 o M43
Y (Y 10)+ (Ypw+17) . /H+o
W - 10+ VW + 17 N AE:
¥ (7G-15)+ (/G +8) o /210
G+ 15+ /4G +8 o JE+HA
P (VM -12)- (TgM+9)
YoM +12-TM -9
) ( 1/1o|'I -3) -(8/10|'I -16)
H+3- 7 H + 16
¥ (X +11)- (X -3)
X - 11 VaX +3
Y (Zz+20)-(Yz-10)
7z -20- 77 + 10
D (YE+6)-(VE-10)
YE-6-/4E+10

1-10 |90[80[70|60[50[40][30[20|10] O |
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C:h Rewriting Expressions

Name:

Rewrite each expression in itssimplest form.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

(7oA +13) - (74A +9)
(Vi -9) - (VP +13)
(74P-17) - (VogP- 13)
(VW +14) + (YW + 4)
('Y,B-10) + (7B +18)
(M -5) - (YgM +19)
(*V1oC-19) - (/1oC-6)
(ZYpeH +15) - (VeH - 17)

(Vv -12) - (v -8)

-(1/6Z+5)+(5/6Z+15)

Answers

10.

C

Math ] www.CommonCoreSheets.com
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y (ar13)-(ZA+0) L SA
VoA +13-7A -9 L S22
) ( 9/10': -9)- (40/50F +13) 3 5/20P'4
YeoF-9- V- 13 . /W-10
K (74P-17) - (VogP- 13) o /B8
N ooP - 17 - VogP + 13 L/ M-14
Y (Taw 14y« (Fw ) r - /aCr25
-1/8W -14 + 6/8W +4 8 y osH+2
¥ (YYB-10)+ (7B +18) o - /V+20
-10/153 +10 + 5/153 +18 1 4/62+1O
¥ (M -5)- (M +19)
YoM +5-275M - 19
D (®Y1sC-19) - ( /yoC-6)
2 oC+19- 7, C+6
Y (Yt +15) - (YeH - 17)
e - 15 " VpeH + 17
¥ (Vv -12)- (Yo - 8)
AN +12- TN + 8
o -( 1/62 +5) +(5/6Z +15)
iz -5+ 7z +15
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
D (N +9)- (TN +9) .
2.
D (X -13) - (VpeX + 16) 3
.
Y (%0-9)- (V20-3) ;
6.
K -(1/6V+6)+(5/6V+7) 7.
8.
¥ (Yp-18)+(Y,D+18) o
10.
6)

(7T-14) - (/T +11)

D (Fw-17)- (Ve - 19)

¥ (Fp+20)-(Yp-10)

¥ (Vz-18)+(Yz +11)

O (Yc-3)+ (YaC +17)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y (Tnr0)- (TN o) L a0
YN +9-"7,N -9 L /eX-29
D (Yox -13)- (VX +16) 2 /uQ6
oeX - 13- ToeX - 16 VAVZE]
Y (0-9)- (Ya-3) s /D0
12/24Q -9- 4/24Q +3 6 '6/5T+3
NG AVIN SN AV 3 -/ gW+36
YN -6+ T 47 . /P10
) N 2/4D -18) +( 1/4D +18) 3 '2/162'7
-2/4D +18 + 1/4D +18 0 -20/36C+14
¥ (Yer-18y- (YT +11)
YT +14-7T-11
D (T -17) - (YW - 19)
oW 17 - /W + 19
¥ (Fpr20y-(Vp-10)
Yp-20-7P+10
¥ (Vz-18)+(Yz +11)
ez +18+ Y7 + 11
O (Yc-3)+ (YaC +17)
2 C+ 3+ Vo C+ 17

1-10 |90[80[70|60[50[40][30[20|10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Y (%,0+15)-(7Q+5) .
2.
D (YE-8) - (VogE +20) .
s
Y (Yp-6)-(/eP-19) .
6.
K -(3/5F+5)+(2/5F+13) 7.
8.
K '(4/10C'5)+(12/40C+9) 9.
10.
6)

(V1A -16) - (VoA +11)

P (-10)- (VB -9)

¥ (Y,p+8)-(¥D-12)

? -(8/10T+16)+(10/5OT+9)

P (TN-6)+ (VN +19)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y (70 +15)- (7Q+5) . 040
20/24Q +15- 8/24Q -5 X 12/205'28
D (VE-8)-(VoE+20) . /P13
o - 8- o - 20 . /F+8
Y (Yp-6)-(/eP-19) ./ CHa
P 6- 74P+ 19 . /A4S
Y Y5y + (% +13) VB9
-3/5F -5+ 2/5F +13 8 4/12D+4
Y (VC-5)+ (FpC +9) AN
_16/4OC +5+ 12/40C +9 " _2/6|\|+ 13
V(oA -16)- (YA + 1)
YA +16- VA - 11
Y (a-10)- (%8 -9)
2B +10- VpeB +9
D (VD +8)-(Yp-12)
Y.,D-8-7.,D+12
% -( 8/10T+ 16) +( 10/50T+ 9)
—40/50T -16 + 10/50T +9
D (YN-6) + (YN +19)
N+ 6+ /N + 19

1-10 |90[80[70|60[50[40][30[20|10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in its smplest form. ANSWer s
Y (YE+13) - (ZF+8) .
2.
V(v -15)- (Y +2) ;
4.
P (Yo -11)- (7N - 16) :
6.
V(Y +13) + (VoA + 15) ,
8.
Y (Yex-6)+ (Vox +4) 0
10.
6)

(7,C-18)-(7,C+20)

D (Yer-10y-(¥T-18)

) '('7/8R+9)'(15/40R'12)

Y (V-5 - (T -9)

O Yk -15)- (Vi - 18)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 9




ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
D (7gF+13) - (7sF +8) 1 5/8F+5
Vo +13- 74 - 8 VAVEY,
2 ( 12/28v - 15) - (2/7v +2) a Y 20N+
o\ - 15- VoGV - 2 L SAR2
3 (4/20N ~11) - ( 2/5N -16) 5. 8/st'2
VooN - 11- 00N + 16 . -/C2
K ~( 32/40A +13) + ( 6/1OA +15) 7. g o1 +28
'32/40A -13+ 24740A +15 8. g 20R+3
Y (Yex-6)+ (Vox +4) o /eH+14
'16/28X +6+ 24/28X +4 10, '2/6K +3
¥ (¥c-18)-(Zc+20)
,c+18-7,C-20
D (Ye-10y-(¥T-18)
VT +10- /T +18
¥ (VR+9)- (YR 12)
oR-9- R+ 12
Y (V-5 - (T -9)
VH+5-YgH+9
O Yk -15)- (Vi - 18)
YK - 15- 74K + 18

1-10 |90[80[70|60[50[40][30[20|10] O |
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C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
Y (Ypr12)- (VP +18) )
2
7 (%D -20)- (4D +13) .
4.
Y (Vpz-16)-(Vez-17) .
6.
Y (Y +17) + (YoF + 10) ,
8.
Y (FT-ay+ (YT +19) 0
10.
6)

(7Q-6)-("V5Q+2)

7)

(VaoX-7)- (VX - 16)

8) -(-8/10R+11)-(4/20R-2)

? -(28/36G+18)+(3/QG+8)

P (v +9)-(Zv +16)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 10




ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K ( 2/7P +12) - ( 15/35P +18) L -5/35P-6
P+ 12- /P 18 . -/ D-33
D (%D -20)- (YD +13) o - a1
YD - 20- 7D - 13 VAE
Y (Yz-16) - (Ysz-17) VAR
ez - 16- Yz + 17 . 044
Y (Y 17) + (Vo +10) o~ JaX+23
S F-17+ /g +10 . 7RO
> ~( 2/5T -4) +( 475T +19) 9. '16/366'10
—2/5T +4+ 4/5T +19 10. '1/7\/'7
Y (70-6)-(VQ+2)
eQ+6- Ve 2
D (%X -7)- (VX - 16)
PV X +T- X + 16
¥ (Y Rr+11)- (VR -2)
R - 11- VogR + 2
K -( 28/3.,GG+ 18) +(3/96+8)
2 eG- 18+ 7uG + 8
O v +9)-(Zv +16)
1/7V +9-2/7V - 16

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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